

This rather silly name actually comes from the first initials of the words "plus" and "minus". The eta-like sequences which we here deal with are composed of exclusively +1's and -1's, whence "pi-mu". Like eta-sequences, they were not invented directly, but just appeared on the scene, in the context of another problem. That problem was this:

Write down "1". Now perform the operation of "reflection-plus-one", which means, copy every number you've so far written, but in the reverse order, and then add 1. Thus we get the sequence "1 2". And now, re-perform the reflection-plus-one. This time, we get "1 2 3 2". Again and again and again:

1 2 3 2 3 4 3 2 3 4 5 4 3 4 3 2 3 4 5 4 5 6 5 4 3 4 5 4 3 4 3 2 ...

The sequence always jumps up one, or down one. And those up's and down's are precisely the pi-mu sequence. They go like this:

+ + - + + - - + + + - - + - - + + + - - - + + - - + - - ...

Now you can perhaps find a pattern in this. Don't read on, if you want to have the pleasure yourself. The pattern I found, after a while, was this:

The odd-numbered elements alternate between plus and minus. That much is easy. What is left is the sequence below:

+ + - + + - - + + + - - + - - ...

At first it looks as chaotic as the original sequence, and therefore of no interest; but all of a sudden it hits you that it IS the original sequence, which is quite another matter! The standard miracle has come to pass...

Let us give the name "u-sequence" to the original sequence, and "d-sequence" to the sequence of differences. Using the definition of reflection-plus-one, we can write down an equation which characterizes the u-sequence:

$$u(T + m) = 1 + u(T - m + 1)$$

where "T" stands for any power of two, and m is positive but no greater than T. Below, "T" will always represent a power of two.

Together with the initial condition $u(1) = 1$, this specifies the entire u -sequence. The definition of the d -sequence is:

$$d(n) = u(n+1) - u(n)$$

Suppose $0 < s < T$. Then

$$\begin{aligned} d(T+s) &= u(T+s+1) - u(T+s) \\ &= 1 + u(T-s) - 1 - u(T-s+1) \\ &= -(u(T-s+1) - u(T-s)) \\ &= -d(T-s) \end{aligned}$$

This simple property is the basis for our proof. The proof itself consists of two parts, each of which utilizes mathematical induction. In the first part, we want to show that odd-numbered terms are alternately $+1$ and -1 . That is, we want to show that

$$d(4k+1) = +1 \quad \text{and} \quad d(4k-1) = -1, \quad \text{for all } k$$

Certainly the proposition holds at the beginning, namely $d(1) = 1$ and $d(3) = -1$. Now, for the inductive step, assume that it holds for all odd numbers up to T , where T is a power of two which is at least 4. Let $4n+1$ be between T and $2T$; then

$$\begin{aligned} d(4n+1) &= d(T+4b+1) && \text{for some } b > 0 \\ &= -d(T-4b-1) && \text{using the above property} \\ &= -d(4k-1) && \text{where } 4k-1 < T \end{aligned}$$

Since $4k-1 < T$, we can use the inductive hypothesis: $d(4k-1) = -1$. But this gives $d(4n+1) = +1$. The analogous argument holds, starting with $4n-1$, and allows us to conclude that the proposition holds for all odd numbers up to $2T$. But of course this completes the inductive step, and hence the induction.

Now in the second part of the proof, we want to show that the even-numbered terms give the sequence back again, which means

$$d(2n) = d(n)$$

It holds at the beginning: $d(2) = d(1) = +1$. In fact, $d(T) = 1$ for all powers of 2, because of reflection=plus=one:

$$\begin{aligned} d(T) &= u(2^n + 1) - u(2^n) \\ &= 1 + u(2^n) - u(2^n) = 1 \end{aligned}$$

We now make the inductive assumption that $d(k) = d(2k)$ for all k less than T , where T is at least 2. Suppose $n = T+b$, where $0 < b < T$. Then

$$\begin{aligned} d(2n) &= d(2T+2b) \\ &= -d(2T-2b) && \text{by the above property} \\ &= -d(T-b) && \text{by the inductive hypothesis} \\ &= d(T+b) && \text{by the above property} \\ &= d(n) \end{aligned}$$

This completes the inductive step for numbers up to $2T$, which are not themselves powers of 2. But we've already done the work for powers of 2, which means that the second induction is complete, and that wraps up the proof that the d -sequence does indeed give itself back.

So far, we've only seen one pi=mu sequence. We can generalize the notion in a natural way. A pi=mu sequence must satisfy three requirements:

- (1) It must be composed exclusively of +1's and -1's.
- (2) Its odd-numbered terms must alternately be +1 and -1; however, it does not matter which one comes first.
- (3) Its even-numbered terms must form a pi=mu sequence.

(Let us make the convention that if a sequence satisfies requirements (1) and (2), then the sequence composed of its even-numbered terms is called its "derivative". This is not the same as the earlier notion of derivative, but it is similar in spirit.)

Now == how would this definition of pi=mu=ness ever help us to determine if a given sequence were pi=mu? If we attempted to apply it, we would merely be forced, by requirement (3), into checking the pi=mu=ness of the derivative; and then around the bush we would run, around and around and around. To ameliorate the situation, let us say that

